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image6.png
‘Debbic drove from Junction 12 to Junction 13 on a motorway.
“The v gaph shows Dsbbi's journey.

Jucion 12 20

]
Time (ninutes)

13 drove rom Junction 12 to Junction L o the same motorvay.
He drove a n aversge specd of 66 knhour:

Who had the fstr sverage spes, Debbic or lan?
You must cxplan your anewer.
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7 Peter goes for a walk
He walks 15 miles i 6 hours.

(9 Work ou Peter's aversgs spesd.
Give your answe n e p b

S miles= k.
‘Sun says that Peter walked mor than 20 k.

0 1 Sun ighe.
ou st show alyour working.

(Total for Question 7 i 4 marks)
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13 Afanily wentonholidayfo Miami
“They el o Loncon by pane.

“Th cisancefom London to Miami i 7120k,
“The plane joumey ook 8 hous.

Clcule he average speed of the plane.

(CTotal 2 marks)
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1 Ping chooses four numbers.
‘The mode of these four numbers is 8, the range is 7 and the mean is 11.

Find Ping's four numbers.
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6 Jenny played four games of golf.
For these games her modal score was 76 and her mean score was 75.
Her range of scores was 10.

What were her scores for the four games?

[
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12

Here is some information about 26 houses.

a, band c are all different numbers.

Number of bedrooms | Number of houses
1 7
2 a
3 b
4 ¢
5 8

‘The median number of bedrooms is 3.5

Work out a possible set of values for a, b and c.

[3 marks]
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14 ‘The mean mass of a squad of 19 hockey players is 82 kg
A player of mass 93 kg joins the squad.

‘Work out the mean mass of the squad now.
13 marks]
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The range of a set of numbers is. 15%

The smallest number is —2%

Work out the largest number.
[3 marks]
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15

100 men and 100 women took a test.

Scores

Median Interquartile range Range
Men 28 75 31
Women 30 B a7

Using this data, which statement must be true?

Tick one box.

Men had a higher average score than women

Men had more consistent scores than women

Awoman had the highest score

Aman had the lowest score

11 mark]
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Circle the expression for the range of n consecutive integers.

n+1

n+1

[1 mark]




image16.png
In one month, the number of hours of exercise taken by 10 people are
4 7 2 8 6 5 1 8 3 9

Whichis the appropriate average to use in this situation?

Ticka box.

Mean Median Mode

Give one reason for each of the other two averages as to why they are not appropriate.
[2 marks]

Reason 1
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12

‘The table shows information about the UK and Germany.

Population Area (square miles)
uK 64000 000 95000
Germany 82000 000 140 000

Population density = oPUIation

opulation
area

Compare the population densities of the UK and Germany.

13 marks]
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13 In a class of 28 students
the mean height of the 12 boys is 1.58 metres

the mean height of all 28 students is 1.52 metres.

Work out the mean height of the giris.

[4 marks

metres




image1.png
Gary drove from London to Sheffield.
It took him 3 hous at an average speed of SOkm/h.

Lyn drove from London to Sheffield.
‘She took 5 houss.

Assuming that Lyn
drove along the same roads as Gary
and did not take a break,

(a) work out Lyn's average speed from London to Sheffield.

(b) If Lyn did not drive along the same roads as Gary, explain hor this could affect your
ansrver to part (3).

0]

(Total for Question 4 is 4 marks)
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10 A coach travels from Dronston to Luscoe.
The rave graph fr i oumay s s el

LR R R N N
e i)

(@) Work ot the sersge spesd of e coach, i Klomtrespe b, o the st
10 mimes of e oumey.

The coach stops i Lascos for 15 mimes.
Tk Conch th et Dromion 1 8 comtan pesd of 2

) Shor s ssfornaion o e el g

®
(Totalfor Question 10 i 5 marks)
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14 The distance from Pulbeck to Ganby is 10 miles.
The staace from Ganby to Horan 5 18 il

L0smes 15mes
Fulck =

Rlsha i going to e Fom Fulbeck t Ganby.
Then s i v o Gy t Horon

‘Rl lsves Fulbeck 5110 00
Ste dives fom Fulbeck o Ganby a m verage speed of 40mph.

Rl wans o get o Horon 2t 1035
Wtk out e sverage sped Rl must i at fom Ganby o Horon.

(Total for Question 14 i 3 marks)
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23 Aroad is 4530 m long, correct to the nearest 10 metres.
iy roveslong e rosd i 205 saconds,caract o nerest § secomds.

The average speed i for e road 30 k.

Coula Kirey'savragespeed bave been gese han S0 Tm?
Vou st shore your working.

(CTutal fo Quesion 2315 mark)
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14 Emily is driving in France.
Erphaaty

—595p
3
B

‘Emly s goiag o dve 0 Dijon
‘Sheplms t dive a1 an verge sped of 50 mils e b

ok out b L it ol sk Eily o e o D

(Totalfor Question 1 i 4 marks)





